
Figure S2: Fst between sexes (♂-♀ Fst) versus male Fis (♂ Fis) without correction (A) or 
corrected by female Fis (♀Fis) (B) for each sex-linked loci in Rana temporaria. R2 of the linear 
regressions are indicated, and a regression line is shown when the regression was significant. 
Photo credit: Christophe Dufresnes 
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A) ♂ Fis vs ♂-♀ Fst
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R2 = 0.86 R2 = 0.12 R2 = 0.12 R2 = 0.73

R2 = 0.74 R2 = 0.70 R2 = 0.01 R2 = 0.19

R2 = 0.72 R2 = 0.87 R2 = 0.82 R2 = 0.92

R2 = 0.60 R2 = 0.54
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B) ♂ Fis (corrected by ♀ Fis ) vs ♂-♀ Fst
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